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009 fewer children than adults.
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How many people attend the match?

crowd.
There are 2,
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o Complete the calculation.
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o Who has got euch'question correct? Tick your answer.

sl %
WA b

oeetl (s cormech. Nige
boopS LONIEC: INalo ) A
I

LOJ{M'\(‘@ NiJah ¢ l_SO, JAon thay Ok ot 8
+ 1N o . o oL /
e 2 % | QX‘Qﬁ O 5 UVET | incy ) CONest | e ‘f%»:‘\u‘-t it i

T1Y13 oS o e N Os O @
N - . A
. 8
| olel=]= = ] @
| . < A~ ¢ j g
; FlalN|lof - i =Y s 2
. - : = s
| ¥ T 0|~ |O|~ B8 i € \ od | pa °
i ?_ = Q 8 - — - —
<< wn|— € Y = =4 O os|— 4+
5 @ <
© +
i = — * = > < | +| # e
o £ @ L +
] S s o
5 g ) iy
> 4 E-)
SR ..\ — L. ——
- [ - q’
o c
" > 1 £ i = IS === ==
oo N} 8 e O ~n|n|F O | n o
.‘7 = o é —_—f— - i e . N— i
— oo B = 5 IR NN N Re) i~
p———t—— R o = E A —
T ~[of— £ 2 T T~ <Al - o o
IR - o 8 — 3 1
= & k= ©|- 8 & 5 o [= m [ Elw
b | ® 5 3 < | A==, === BN
- + E 5 5 g + +
s |- 53 = 5 i L
L] = 2 3 a
==~ 5 | $8 @ £ L
C ude | A ILJJJ = S % -
o x| Tods, .‘AI_ | ()

fum)\

Jm

Nisoh oudl swob ke ik e Un | bha | rilaht u@‘\uaz o ond

- columni v
O/ mn oo|m
it o]~
T | |~
+ A
ﬂ = — |
[ i
J |
8 A )| ‘
———————— = i|
O nloo|m “
— | "“
= s 5 o
= R Y \
+ |.J-"
< - 1 |
8-l HIl
Z| | I I S l |
—
7)




| 5.09.21 \

\ ) - :
Opdi cod CondOhadOTe. Gur (ound 04 kaowldqge

Circle all the numbers that:

a) round to 23,000 when rounded to the nearest 1,000

23587 (23399) (229800 (22675 22,003

o Mo rounds a number to the nearest 1,000
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a) Write three numbers Mo could have started with.
Use the number line to help you.

| { I
39,000 40,000 41,000
b) What is the smallest number Mo could
have started with?
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o Complete the table.

2
| Numerals 550,000 6@01 000 850,000 |767, 000
| eight handa
] ) seven
five hundred | six hundred |Qng 50 hundred and
Words and fifty and twenty u OV& utl tm:t on
thousand thousand 3 ts;]xogsuv:llz

o a) Circle all the numbers that have 2 in the hundreds column,

Lrd 295 2,095 19,216 200,000

b) Write three more numbers that have a 2 in the hundreds column.

Each number should have a different number of digits.

o Write the value of the 3 in each number.

a) 387 d) 307,612
b) 5,306 e) 531,476
¢ 7,903 f) 603,956




